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Module 5 - Pelynomials Functions
5. 1‘Gr§phing Cubic Functions
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Use the end behavior, x-intercepts, and y-intercept to sketch the graph of the function. | .
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" Module 6 - Polynomials
6.1 Adding and Subtracting Polynomials

Add or Subtract, Write your answers in standard form.
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5. A rectangular field has a perimeter of (3x° — 12x? + 10x ~ 75) miles and alength of x miles.

a) Write an equation for the width of the field in terms of the length.
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6.2 Multiplying Polynomials

Multiply. Write your answers in standard form,
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Expand using the Bmom:al Theorem
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6.4 Factoring Polynomials

Factor {:ompleteiy
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6.5 Dividing Polynomials [W? @ Se,f_ E\AA ‘,
Use long division to divide the polynomials, Write your answers as dividend = {divisor)(quotient) + remainder.
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Use synthetic division to divide the polynomials. Write your answers as dividend = (divisor)(quotient) + remainder,

5.(x* = 2x% + 52 — 15) + (x — 2) 6. (x* 4 1523 + 6122 +43x+25) {x + 8)
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Module 7 ~ Polynomial Eg' uations

7.1 Finding Rational Solutions of Polynomial Equations

Solve each polynomial equation by factoring. ‘_ i
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9. An engineer is designing a storage compartment ina spacecraft The compartment must be 2 meters longer than it is
wide, and its depth must be 1 meter less than its width. The volume of the compartment must be 8 cubic meters.

a) Write an equatlon to model the vn],yme of the compartment. 'g.- I,\ f* ~
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b) List all possible rational roots,
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_ ¢) Use synthetic division to find the roots of the polynomial equation. Are the roots all rational numbers?
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7.2 Finding Complex Solutions of Polynomial Equations

Write the simplest polynomial function with the given roots.
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Solve each equation by finding all roots.
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9, An electrical circuit is designed such that its output voltage, V, measured in volts, can be either posiu% or negative. The -
voltage of the circuit passes through zero att = 1,2,and 7 jeconds. Write the simplest polynomial describing the voltage '
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6.5
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10. Anew rectangular holding tank is being built. The tank’s sides and bottom should be 2 feet thick. Its outer length
should be twice its outer-width. The outér height is the same measure as the outer width. What should the outer

dimensions of the tank be if it is to have a volume of 288 cubic feet? .
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